() HEIBHEIM ()

@o ) o ) o) law) sty |- wo )y ey w®s ) @z ) lese)  @sy)  feo ) - @1 ) ww)  aeg)  |©oon N 667 ~ 001
I 6 I €01 @ - I 0z 8 € or 29 I - z 8¢ 8 6el
®1 ) ar ) 60 ) (eer) @) |leo ) |er ) awr) @or) o ) ey aw) feo ) @o ) ®1 ) o'r)  |@sy)  |©00D N 66 ~ 08
¥ 6 z 191 ge 2 ¥ 1 € z 19 16 I 1 b 201 201 02z
®0 ) @1 ) @z ) ®or) €r) oo ) oo ) Jaer) ey |eo ) ey e feo ) @ ) @11y aws)  @ee)  |©oon) e 67 ~ ot
p 6 1 618 021 € ¢ V6 ) Z 121 811 g y be 162 Gl £61
. . . . . . . . . . . . . . (0 % v o uws &
©z ) s ) @z ) ave)  ©w) oz ) | ©oz) or) |- Gee) @oe) |- - el) ®es) o) |©00D) s .
1 z 1 I o1 1 - 8 v - i A - - 9 1z i 6¢ AW R LA~ 4
- - - (G°0L ) (662 ) - €z ) (6°GT ) (6°¢1 ) Gv ) (T've ) (€2 ) - - Gv ) 9°€9 ) (8°1¢ ) (0°00T) T % ‘ ¥ =]
- - - 1¢ €1 . I L L z o1 Al - - z 82 P B
. . . . . . . . . . . (> % 2 & % 3 £ )
- - - @) |®1e) |- - ae ) @) |- W) @) |- @v ) @el)  6or)  ®or)  |©00D) )
- - - o1 L - - z g - g o1 - I € 6 6 2 *# x o/ % & W
- - @z) @) a1y |- - ©6z) |(6%) |- amy ety |- - @FP1)G81)  @e9)  |(©00D) )
- - 9 81 ¢ - - 8 L - B 6 - - b g 81 12 Fora— 4 @R
- @z ) |ev ) @ew) a1y ez ) ez ) ez |eee) |- @y sy |- @z ) ©) ©@se) @) |00 ®.x a - wp @@«m
- 1 z 1€ g 1 I €1 a1 - 8 L - 1 6 @z o1 op * ot =
- @y @z ey eu)  fer ) ez e o ez ey o) |- @ ) @) o) ©@w) |0 R T
- € I €e 8 1 I 9 g I £1 81 = 1 I 81 @z op ¥ M &
. . . . . . . . . ¥ ¥ 0¥ W @
- ©oor) |- ©oor) |ooz) |- - o) - - ©oce) oor) |- - - o)  ©se)  |©00n ;
- z - P1 p = - g - - L 8 = - - 6 1 0z ®ooH @
€Ly v ) ez ) loese) €Ly ez ez leve)  ev ) v ) auy ey ez ) - ¥z ) @©8v)  (€9)  |©ooD ¥ ¥ oW ¥ W T
€ z I 2 € I I o1 z z L 81 1 - I 0z 61 I
©1 ) 1) - @er) @oz) oo ) |eo ) l@st) ety |- ©ozz) @) et ) - ®8 ) ®zs) 1) |©oon ¥ o2 o ¢ % o\
€ € - 0z1 ee I I 62 9 - 9¢ 99 z - b1 8 6¢ 6el
G1 ) 1) 6T ) @18)  |oer) |- we ) @) ) | woz) @1e) et ) 61 ) we ) (@1e)  @or)  |©0on ¥ % W ¢ ¥ W W
I 1 I W P - z o1 6 - 1 1 1 1 z 82 2 pe
- wL o e ) ©re) l@sg) |- - WLy o - - @oe) @®@se) |- - - @y ) ®)  |©oon ¥ o9 oW w5
- p I ze o1 = - p - - 61 62 - - - £ 62 26
o ) ce ) o ) (LgL) (6722 ) - o ) Izr) et ) o ) (Log ) 62V ) 70 ) o ) €9 ) ¥es ) €or) (0°00T) ES e i
I 8 I 891 £ . I 82 Ie I 1 66 I 1 o1 121 £6 162
- 1) - @89) |aoe) |- - wery @8 ) e ) ey woe) |- - av ) @) wee)  |©oon % Pt o
- 1 - 0¢ 4 - - 01 9 1 61 L€ - - g 1e 68 €L
T at ) @T ) ®1Z) %) oo ) [®0 ) @) Oe) 60 ) €Z)  06)  [@0 ) ®0 ) oL ) ey |Cee) o0 o
6 72 Pl 9cg 11 g 9 8el s01 L 112 206 g g 6¢ 86¢ L0¢ bLL i e
- ® ) - ®08) ey |- ©z ) 06 ) ey | ®12)  €iey |- . €1 ) ®E)  629)  [©00D "
- € - €9 a1 - z L 21 - 1 oF - - I Ve £ 8L B
TT ) @c ) 0T ) Q) @) o0 ) [®0 ) Oy Qe @0 ) ®%) @T0%) @0 ) @0 ) Ol ) ©er) €z )  |©00D . "
6 ) Y1 619 €81 g 8 g7l L1 L 822 are g g 09 2y 09¢ 268 1€ G # Z =
: @ R Ry T o
A =) Y EEN= 2} 1 @1
4 4 20 2y ) Z R R ¥ Q b
& & % 7 (O] HEE =7 T Hl 3 MR EU B @ ES
k7 T % £ [&] (] L e [ L e ¥ 2 Hf HE % J
I @ H * w i | W oo | w | wag | e | 0 @ z | 35 | B ]
i P > g £ AT NIZE STEE Hf s 5 B B E7
WRIZE D LA LL—> OB TR TWRIE O E R QI TS EE MO G D5

AR HMLEE O—¥<E




B2Xk—00 BHBlEOfM
(BN A, %)
TE X BAX = Bl
i » % kG 5. [=]
1= T JE B i 78
ES U 1] D H# E
g % D Kk vAS
T AN6N L
)
. = 852 611 69 161 11
W & E = # (100.0) ( 71.7) (8.1 ( 18.9) (1.3
78 54 13 8 3
Pt i)
A (100.0) ( 69.2) ( 16.7) ( 10.3) ( 3.8
s A 774 557 56 153 8
AL 1000 (7200 (72 (198 (10
73 58 3 11 1
=3 B4 E (100.0) (79.5) ( 4.1 ( 15.1) ( 1.4
231 183 16 28 4
#l ik % (100.0) (79.2) ( 6.9 (12.1) ( 1.7
52 36 2 14 -
W w5 % (100.0) (1 69.2) ( 3.8 ( 26.9) -
54 33 8 13 -
S T o fE 3 (100.0) (61.1) (14.8) ( 24.1) -
159 109 13 36 1
#ose ¥, N o5E 2 (100.0) ( 68.6) ( 8.2 ( 22.6) ( 0.6)
41 29 6 5 1
ol S S (S (100.0) (70.7) ( 14.6) (12.2) ( 2.4
. 20 14 4 1 1
g ?f § é§ b 100.0| (7000 (200 (50| 50
N " 45 36 3 5 1
oy (100 (8.0 (67  (1LD| ( 2.2
U . 45 26 1 18 -
g (100.0)|  (57.8) (22 (40.0) -
. 27 19 3 5 -
* ﬂf " 4;; € %% : (100.0)| (7040 (111 (185 -
e . 22 14 2 6 -
U (100.0)|  (63.6) (9.  (27.3) -
44 30 5 9 -
= B Ak (100.0) ( 68.2) (11.4) ( 20.5) -
. . B 39 24 3 10 2
2o R LS (100.0)| (615 (7D (256)| ( 51
493 342 35 113 3
10 ~ 49 A (100.0) ( 69.4) (7.1 ( 22,9 ( 0.6)
220 166 18 31 5
50 ~ 99 A (100.0) ( 75.5) ( 8.2 ( 14.1) ( 2.3
139 103 16 17 3
100 ~ 299 A (100.0) (74.1) (11.5) (12.2) ( 2.2

) NITRERE(%)




024k

—@ A 1AERIOE GG - SRR

[N S o N N/

ke (M) kA% (H)
% 3 ’ LHLT 5
X5y e | L ) B S 5
fE¥%y . KAk I ES R fiE TIEHE | HE R Em | WEe
st — 4 — 4 IS i —H | e LIt
852 656 905,259 = 407,802 @ 414,720 82,737 2.91 1.32 1.33 0.26 191 5
HoOE OE ¥ B
(100.00| ( 77.0 (224 ( 0.6
78 65| 1,055,357 486,040 = 507,916 61,401 3.11 1.45 1.51 0.15 13 -
FRA
(100.0)]  ( 83.3) (16.7) -
774 591 887,799 | 398,701 = 403,879 85,219 2.88 1.30 1.31 0.27 178 5
PR
(100.0)]  ( 76.4) (23.0] ( 0.6
i 73 68 | 1,445,266 660,205 645,741 139,320 3.76 1.76 1.60 0.40 4 1
At s %
(100.0)f  ( 93.2) ( 55 ( 1.4
231 200 850,090 = 391,347 407,271 51,472 2.86 1.31 1.40 0.16 31 -
(100.0)]  ( 86.6) (13.4) -
B 52 36| 1,101,911 563,892 498,074 39,945 3.42 1.74 1.55 0.14 15 1
oW om F
(100.0)]  ( 69.2) (28.8)) ( 1.9
54 41 559,072 | 254,705 276,394 27,973 2.05 0.96 1.05 0.04 13 -
O ¥, WO %
(100.0)]  ( 75.9) (24.1) -
159 117 794,688 | 342,607 364,566 87,515 2.80 1.20 1.30 0.31 41 1
HogE %, /D oE ¥
(100.0)]  ( 73.6) (25.8)] ( 0.6)
B 41 34| 1,431,606 605,153 552,220 | 274,234 3.72 1.59 1.43 0.71 6 1
& o, R mOE
(100.0)f  ( 82.9) (14.6) ( 2.4
W E % 20 18| 1,310,824 | 581,662 628,340 100,822 3.41 1.53 1.66 0.22 2 -
I [=] pe=3 :
oo SRR (000 (90,0 ( 10.0) -
oM BFo% 45 37 765,179 | 353,769 327,535 83,874 2.81 1.39 1.13 0.28 8 -
SR —E AR 00| (s2.2) (17.8) -
o - % 7 45 19 433,202 | 222,725 210,477 0 1.81 0.89 0.92 0.00 26 -
oy =B AR 00| (422 ( 57.8) -
A A — 1 R 3 27 13 455,583 | 194,754 230,867 29,962 1.75 0.78 0.88 0.09 14 -
15 2K E
B * (100.0)]  ( 48.1) (51.9 -
“H, ?E Y iE 22 14 726,344 318,176 = 311,108 97,060 1.82 0.77 0.87 0.18 8 -
(FRATZER (00.0)| (636 ( 36.4) -
44 31 608,009 | 236,268 295,860 75,881 2.69 1.04 1.22 0.43 13 -
Eow,
(100.0)f  ( 70.5) (129.5) -
NS 10 39 28 881,164 | 360,433 400,166 120,565 2.92 1.25 1.26 0.41 10 1
A I s
BEEINBZB D 000  (71.8) (25.6)| ( 2.6)
10 ~ 49 A 493 356 823,689 = 362,215 386,511 74,963 2.61 1.17 1.21 0.24 135 2
(100.0)[ ( 72.2) (2749 ( 04
50 ~ 99 A 220 177 919,236 | 423,083 410,803 85,350 3.07 1.40 1.40 0.27 40 3
(100.0)]  ( 80.5) (18.2)] ( 1.4
100 ~ 299 A 139 123 1,124,196 | 519,158 = 503,320 101,718 3.51 1.62 1.59 0.30 16 -
(100.0)f  ( 88.5) (11.5) -

() PNIEHERR (%)




B2k —-@ HEFICKDZELGRKA

(HAL: AL %)

X4y /J%%Z& FLADHY 10% 10~ 20~ 30~ 40~ 50%  EEFETS | MEE
AT 20%Kii | 30% A | 40% A | 50% Al UE  |geenl
852 702 208 192 81 24 22 34 141 150
HOAE E ¥ 3 (100.0) ( 82.4) ( 17.6)
<100.0>| < 29.6> < 274> < 115> < 34> < 31> < 48] <201
78 70 17 29 3 2 3 3 13 8
FrRHAT (100.0) ( 89.7) (10.3)
<100.0>| < 24.3> <414 < 43> < 29> < 43> < 43> < 18.6)
774 632 191 163 78 22 19 31 128 142
57 M (100.0) ( 81.7) (18.3)
<100.0>| < 30.2> < 258> < 123> < 35> < 3.00 < 49 <203
73 68 25 24 6 2 1 4 6 5
B % (100.0) (193.2) ( 6.8
<100.0>| < 36.8> < 353> < 88 < 29 < 15 < 59 < 88
231 196 53 66 24 9 5 7 32 35
W E % (100.0) ( 84.8) (15.2)
<100.0>| < 27.0> < 337> < 122> < 46> < 26> < 36> <163
52 41 15 8 4 1 1 4 8 11
% oW \E F ¥ (100.0) ( 78.8) (21.2)
<100.0>| < 36.6> <1950 < 98> < 24> < 24> < 9.8 <195
54 43 16 10 - 2 2 2 11 11
2, WOfE 3 (100.0) ( 79.6) (20.4)
<100.0>[ < 37.2> < 23.3> - KA <A < 4T 256>
159 129 37 37 19 5 3 3 25 30
e ¥, /e E (100.0) ( 81.1) ( 18.9)
<100.0>| < 28.7> < 287> < 147> < 39> < 23> < 23> <194
41 30 6 7 5 1 2 6 3 11
o= = S O (100.0) (73.2) ( 26.8)
<100.0>[ < 20.0> < 233>  <16.7> < 3.3 < 6.7 <2000 < 10.0>
20 15 5 - 4 1 1 2 2 5
;@: ?ﬂj g g% % (100.0) ( 75.0) ( 25.0)
<100.0>| < 33.3> - <2 < BT < BTy <133 <133
e " 45 35 6 13 7 1 2 1 5 10
w5 Qmﬁ:bt S| (000 (778) ( 22.2)
<100.0>| < 17.1> < 371> <2000 < 29> < 57> < 29 <143
e 45 31 5 5 3 - - - 18 14
ﬁk@ﬁ fﬁ% 2 s (100.0)|  ( 68.9) (31.1)
<100.0>| < 16.1> < 161> < 97> - - - <81
. . 27 24 10 3 3 1 - - 7 3
Eﬁfjﬁ‘i_t;¥ (100.0)|  ( 88.9) (11.1)
<100.0>| < 417> <125 < 125> < 4.2 - - <292
ﬁﬁ 5 H R K (10023) ( 8613) ' ' 1 1 1 ) ' (13 g)
(FR#EH MWL) : : :
<100.0>| < 15.8> < 21.1> < 53> < 53> < 53> <105 < 36.8
44 42 15 7 3 - 4 2 11 2
= ¥, fm fk (100.0) ( 95.5) ( 4.5
<100.0>| < 35.7> <1670 < 1.1 - <95 < 48 < 26.2>
%‘_ £ (f i <10032) ( 7422) N ’ ) 1 ' ( 2512)
SNV D) : . :
<100.0>| < 414> <2760 < 6.9 - - KB4 <20
493 404 129 98 43 10 9 15 100 89
10 ~ 49 A (100.0) ( 81.9) (18.1)
<100.0>| < 31.9> < 243> < 106> < 25> < 22> < 37> <248
220 188 51 55 26 9 8 5 34 32
50 ~ 99 A (100.0) ( 85.5) ( 14.5)
<100.0>| < 27.1> < 293> < 13.8> < 4.8 < 43> < 27> < 181>
139 110 28 39 12 5 5 14 7 29
100 ~ 299 A (100.0) ( 79.1) ( 20.9)
<100.0>| < 25.5> < 355> < 109> < 45> < 45> <1270 < 6.4

()< OPITHER (%)




2L -0

B T4 D AR

(B £ %)

A
b s [FEW T ELA T E P .
S H C s — 73— [E] 7 G
¥ ) B % £ L
%% v Tk R
) X
852 624 388 222 14 221 7
W OoA E OE OB (100.0) (73.2) ( 25.9) ( 0.8
<100.0>| < 62.2> < 35.6> < 2.2
78 60 42 17 1 18 -
kA (100.0) ( 76.9) (23.1) -
<100.0>| < 70.0> < 283> < 1.7>
774 564 346 205 13 203 7
Bt ek (100.0) ( 72.9) ( 26.2) ( 0.9
<100.0>] < 61.3> < 36.3> < 2.3>
73 57 34 22 1 16 -
b S S (100.0) (78.1) (21.9) -
<100.0>] < 59.6> < 38.6> < 1.8
231 185 112 71 2 44 2
woE % (100.0) (1 80.1) ( 19.0) (0.9
<100.0>| < 605> < 384> < 1.I>
52 34 21 11 2 18 -
B W om F ¥ (100.0) ( 65.4) ( 34.6) -
<100.0>| < 61.8> < 324> < 59
54 40 30 10 - 14 -
TH oA 2, B O(E (100.0) ( 74.1) ( 25.9) -
<100.0>| < 75.0> < 25.0> -
159 117 72 43 2 41 1
o oge ¥, e ¥ (100.0) ( 73.6) ( 25.8) (0.6
<100.0>| < 61.5> < 36.8 < 1.7>
41 24 15 9 - 16 1
4R E, R B OE (100.0) ( 58.5) ( 39.0) ( 2.4)
<100.0>| < 62.5> < 37.5> -
20 13 7 6 - 7 -
;; ;%f E ? ;% (100.0) ( 65.0) ( 35.0) -
<100.0>] < 53.8> < 46.2> -
e e 45 31 20 10 1 14 -
w000 (6.9 (31.1) -
<100.0>] < 64.5> < 323> < 3.
IR 45 27 13 12 2 17 1
w7 vy | ao0o|  (s00) (319 (2.2
<100.0>] < 48.1> < 444> < T4
. , 27 22 19 3 - 5 -
E(i/gfg@i_t%% (100.0)|  ( 81.5) ( 18.5) -
<100.0>| < 86.4> < 13.6> -
T 22 15 10 4 1 7 -
(KRB ER) (100.0) ( 68.2) ( 31.8) -
<100.0>| < 66.7> < 26.7> < 6.7
44 31 17 13 1 12 1
= o, & Ak (100.0) (/70.5) (27.3) (2.3
<100.0>| < 54.8> < 41.9> < 3.2>
. _ 39 28 18 8 2 10 1
Z:i:é ;ﬁfi fg‘ﬁgi; (100.0)[  ( 71.8) (25.6) (26
<100.0>| < 64.3> < 286> < T.1>
493 332 203 122 7 157 4
10 ~ 49 A (100.0) (67.3) ( 31.8) (0.8
<100.0>| < 6l.1> < 36.7> < 2.1>
220 178 114 59 5 39 3
50 ~ 99 A (100.0) (/80.9) (17.7) (1.4
<100.0>[ < 64.0> < 331> < 2.8
139 114 71 41 2 25 -
100 ~ 299 A (100.0) ( 82.0) ( 18.0) -
<100.0>] < 623>  <36.00 < 1.8

)< OPIIRERL (%)




000G 00091 000°0F 000G 005Z 000°0T Y3
9619 G'gh | 005°0L 9Ly | 801°00T 916 | 116°¢9 oLy |17 12202 Vv | Lea 19 6°Gh | 659101 86 | V8 LS 9y |12 Kgade Y 662 ~ 001
000°0£T 000°05T 000°00¥ 0062V 00028 008817 3
000°¢ 000°G 000°GT 000°€ 000°0T 000°ST 3
AWK 9% | $8L°09 v9v | 016101 170G | £08°09 0Ly |69 15202 vev | 28ees LSy | V1L €05 | 959°sy 6°Gh | P11 Giae Y 66 ~ 0
00006 000002 000°00¥ 000°08 000°ZLE 002022 a3
000 00£°6 000°0T 000G 000°0T 000°€ Ry 24
GL6TY 9V | aL1TL LV | eLveent G 16 | L28°GL LV | zal L8182 6¢h | L86°2S v ov | ¥90°98 1°0S | #99°€S 997 | €02 Ggede Y 6 ~ 01
000°0£Z 000°08¢ 00 GhY 000°0¥Z 000°0LZ 000°09% el 2
000°0T 0000 0000 000°0G 000°0T 000°0¢ pi[Rin o
955°¢1 Ly | 0L8 Y 98y | gaves G Ly | 981°SY 08y |8 265Gy 267 | 008°9F LV | 62929 68V | 9v9°6 Ly |81 Gk f@éﬂ;w%xi uw m« M
00081 00Z‘L9 000991 00065 000°08 000°0ST = " )
00491 000°03 00003 000°0T 00002 000°¢ Ry
L850 LT | 81€°6¥ T'TF | 96009 L8y | z6Le 6ev | €1 G659 vov | 989291 ver | 0807 0V | 28698 0er | L1 vy EC 2
000°08 000°051 000°00T 00£‘65¥ 00081 000651 il 3
X X X 000G 000°01 00002 Y3 -
X X X X X X X X 12 G66°LT vy | vezise 'SP | 00G°2Y L6V | 9057 L6 | 01 fgkc vaw&%w n_wm Wm wm_wwmv
X X X 0050 000°59 000°00T gy | A F e =
X X X 000°0T 000°02 000°0¢ Y % -
X X X X X X X X g 00073 eV | eeees aLv | L0 LL v0s | 25k zs Ly |61 Ggae . %M 1 lyJw @ m%@ %
X X X 000°0ST 000081 00000 X ) : )
00£°12 000°ST 000°LE 000°0T 000°CT 000Gz ReRe )
095GV ¢eh | 0956 6Ch | €e€0L 8¢ | 96829 9Ly | a1 189°C2 6°¢h | 52299 S¥h | 092°L9 125 | 866°LY Gop | €1 Grdke | ™ % W - mw @E«@
000°06 000°021 00000 000°08 000°001 000°G0T i 3 s
000°01 000°0F 000°0L 0008 00€21 000°8T R " .
V2822 vLe | cesel 99y | 9¥9°eST 99y | g1668 9¥y |01 600°€9 80V | 176G ¢eh | 986621 G9p | €06°c6 9¢r |02 Grd | * ¥ m#l ma mﬂw ’ mmw%
000°0¢ 000°021 001692 000°0¥2 000°0L2 000°09% | - -
00811 000°LT 00Z°2G 00002 00002 00G°LL Y e ow
L86CT Vb | £e8ze ey | ove‘ss 68V | 6LV°9F 9¢h |9 6888 8°8¢ | L09°1L 6'8¢ | 689991 gy | cegce 96¢ | L Grk % M Qm mm
000°0Z 000°0S 005°GTT 000°0¢ 000°091 008812 a2
00502 001°0F 0056 000G 000°GT 000°0F Y3
61712 e'8h | s1616 g8y | v18°9¢l ¢6v | 68128 98y |6 80902 eah | 0aLL9 0y | LLS°G0T 187 | 65€°¢9 8y | a1 Gralv 3 ¥ % Xk W T
00722 000°6€T 000002 00005 000°05T 000002 a2y
000G 000G 000°5¢ 0009 000°0T 0008 3
€099 677 | veese e Ly | 009°G0T 005 | v1578 69V |¢ev V0L°12 SVb | £66°eh 'LV | L95°69 L6V | 20L°6¢ v | aL Grae 3 26 v ¢ ¥ 2
000°0€2 000°08¢ 000°0¥€ 000091 000°00T 000002 fal 2y
000°G 000°0T 000°5¢ 000°L 005G 000°0T SR
1209 Vv | 861 9Ly | 68£°091 Gec | 982VL ey |01 e1e'sg 0°¢h | 10Z°¢S G Ly | vesisL GeG | 029°05 o8y | o¢ Grde 3 W) W ¥ G @
000°08T 000°0ST 002792 00052 000°091 000082 i3
000°01 00L°8% 000°0L 000°G 000°01 000°GT Ry
680°91 Vv | 26186 8¢h | 289°VST V1S | v8Lz8 gy |11 61922 ¢6g | 0v0EY 8ch | 26928 ¢6v | v8zisy vYE | 16 Grde 3 g B W H)
00763 000892 005°GhY 000°08 000°0ST 000°0G¢ a3y
000z 00€‘e 000°01 000°¢ 000°0T 00522 Ry
16612 Vv | ogeLs 98y | 19296 826 | 66268 8y | 1L V6L°81 zev | L10°9¥ 99y | €r618 125 | 116€h 99y |11 Bk ¥ 2 o
000°TTT 000291 009°9T¥ 000°001 000°0ST 000052 i3y
000°¢ 00002 000°0€ 000°G 000°0T 00v‘e Ry
LVLOF zev | eerg 88y | FEIV01 0°€S | 06612 v8h | g VA 8eh | egvsy 687 | €8618 028 | 029°1¢ '8k | ve (ke ¥ EE]
000°061 00000 000°00¥ 000°58 000071 000°0£3 a3
000 00€°¢ 000°0T 000°¢ 005 000°¢ ¥
0e%1¢ 8eh | 67229 1'% | 08T‘G0T ¢16 | 90899 Z'Lv | 222 10962 ¢y | 219°G9 097 | 28998 1°05 | 98929 197 | 88¢ g £ % " B [
000°0€2 000°08¢ 005 ‘7Y 00£‘62¥ 000°8¥ 000°09% ey

= dily = e — e = e - [ED - iy = [ED - CHEY

WY k| ¥ ax| B Gx| P gu|mxo|| T e F e F¥ ek | b | mxw
£ EL B g ac B ) 3% 183 2% EL e (g 7le B ) 3% 183

I O R W [m]

QR 2 O — [

(S RSN ))

WL T O LR

©—¥c



B2 -0 (FTTHOGHINN

(HAZ: 4 %)

2 P = I z I X g
j/E ;;j i i% D IEI iﬂ %IE!
2 ; x w0 fi o 5 &
% # e
852 322 170 63 87 2 526 4
mOoOE OE X B (100.0)[ ( 37.8) (61.D ( 0.5
<100.0>| < 52.8> < 19.6> 27.0> < 0.6>
73 39 21 5 13 - 34 -
e e ES (100.0)]  ( 53.4) ( 46.6) -
<100.0>] < 53.8> < 12.8> 33.3> -
231 108 58 23 27 - 122 1
LI (100.0)[  ( 46.8) (528 ( 0.4
<100.0>] < 53.7> < 21.3> 25.0> -
52 17 7 4 6 - 35 -
W ow W (5 % (100.0)]  ( 32.7) ( 67.3) -
<100.0>] < 41.2> < 23.5> 35.3> -
54 16 12 2 2 - 38 -
E ol ¥, WO ¥ (100.0)]  ( 29.6) ( 70.4) -
<100.0>| < 75.0> < 12.5> 12.5> -
159 49 21 13 15 - 109 1
e ¥, /e ¥ (100.0)]  ( 30.8) (68.6)] ( 0.6
<100.0>| < 42.9> < 26.5> 30.6> -
41 18 4 4 10 - 22 1
& b, RO (100.0)]  ( 43.9) (537 ( 2.4
<100.0>| < 22.2> < 22.2> 55.6> -
. 20 4 2 1 1 - 16 -
;; ;%f g éé % (100.0)|  ( 20.0) ( 80.0) -
<100.0>] < 50.0> < 25.0> 25.0> -
A e 45 12 7 - 4 1 33 -
B R A I | I (73.3) -
<100.0>| < 58.3> - 33.3> < 8.3
U 45 14 11 1 1 1 31 -
UL S S (100.00[  (31.1) ( 68.9) -
<100.0>] < 78.6> < T.1> 7.1 < 1.
. . 27 7 4 1 2 - 20 -
i{aﬁﬁiﬁ € ;¥ (100.0)]  ( 25.9) ( 74.1) -
<100.0>] < 57.1> < 14.3> 28.6> -
BE, EEKIE R 22 ! ! - ! i o i
(2K HET 5B (100.0) (31.8) ( 68.2) -
<100.0>] < 57.1> < 28.6> 14.3> -
44 15 7 4 4 - 29 -
= m o, & Ak (100.0)]  ( 34.1) ( 65.9) -
<100.0>| < 46.7> < 26.7> 26.7> -
R _ 39 16 12 3 1 - 22 1
;{ 5 §§ﬁf§ﬁ@‘3 (100.0)|  ( 41.0) (560 ( 2.6)
<100.0>] < 75.0> < 18.8> 6.3> -
493 162 97 27 37 1 329 2
10 ~ 49 A (100.0)]  ( 32.9) (66.70 ( 0.4
<100.0>] < 59.9> < 16.7> 22.8> < 0.6>
220 88 47 15 25 1 130 2
50 ~ 99 A (100.0)]  ( 40.0) (59.Df ( 0.9
<100.0>| < 53.4> < 17.0> 28.4> < 1.1>
139 72 26 21 25 - 67 -
100~ 299 A (100.0)[ ( 51.8) ( 48.2) -
<100.0>] < 36.1> < 29.2> 34.7>

()< >PITHE R (%)




000°T 000°T 000°T 000G 005°¢ 001% R
12221 69202 €86°91 29F°€T 02812 666°LT 968°C1 00112 (WA 12 9hG°91 GeV 18 066°8T 92 $96°91 22961 26181 Ly B Y 662  ~ 001
00092 000°G¥ 00092 000°G¥ 000°9¥ 000°8S 4
000°¢ 005V 000°¢ 005 000G 000°¢ 3
982°GT 6L9°61 V1281 000°6T 808°€Z [ a4 [SAWA 199°1¢ 20102 9 16L°LT 102 1861 Ly 826°LT ¥6L°02 61 29 Erd | 66 ~ 0%
000°0€ 000°0% 000°0€ 000°0S 000°8¢S 00009 a3y
000°¢ 000°T 000°€ 000°T 000°¢ 00¢‘e 3
G682 L1022 08222 00062 160°L3 76692 126°€2 32 9L3%¢ 12 jZ42) G0z‘61 0€8°LT 16 8€0°8T €L0°1¢ 95661 24 Bred | 67 ~ 01
006°6L 006°6L 000°08 000°08 000°9¥ 00009 a3y
X X X X 000°0T 000°0T puREs -
X X X X X X X X X € GZ8°LT 2627 860°1¢ 21 8213 062°T€ 68562 [ (G m@@;ﬁiwmﬁ@
X X X X 000°€Y 00065 wy | W) FEE A4
X X X X 000 000°¢ Rk
X X X X X X X X X iz €€8°61 eVI‘8T €26°8T L 00F°LT 000°LT 061°LT 1 Gree | T B ¢ ¥
X X X X 000°0€ 000°0¢€ a3y
X X X X X X jy/2 8 w
X X X X X X X X X 14 [x X X iz 19991 €€E‘8T 00G°LT 9 (2ol Wv%m.wnw wﬁ%wmv
X X X X X X ﬁwum SEEAE KR =
X X X X X X y/2 s * i
X X X b's b'e X X X X [x X X « « « er 7k K o
: : : : I - ; i LOTFT €€£°08 052°LT 4 MW WY A T
X X X X 000°S 000°S Y2
X X X X X X X X X I 00T%T 009%1 05€pT 1 GPS‘GT 009%1 G60°GT z1 v %FK W]mw @E«m
X X X X 0000 000°0€ (SR L
- - 0008 0008 3 UL
- - - - - - - - 091°€2 L9608 79612 L 091°€2 L9608 79612 L (o %,K Wl,ﬁt% WMW
- - 000°0¥ 000°0V el e o
X X X X X X Mem
X X X X X X X X X 1 X X X 4 X X X [ [4 % ‘Ww W W
X X X X X X ey W um RM %
X X X X X X ﬂvm
X X X X X X X X X id X X X iz 06212 61812 ¢1812 8 frae | 36 ¥ K K WT
X X X X X X MMMW_W
000°T 000°T 000°T 000G 00¢‘e 000G )3
€85°01 289°L1 9L1°G1 005°€T 00282 88922 Zr0°z1 06922 81881 g1 68181 62802 £68°61 12 €80°L1 €991 89¢‘61 Ve Grae | 36 20 v ¢ 3k 90 [
00062 000°GH 000°0€ 00009 000°¢H 000°6S Bl
X X X X 000°¢ 000°¢ )3
X X X X X X X X X 14 GLe‘cT 05281 €90°LT 4 6L1°8T 98L°12 28661 il Grade | 36 ) 3K W EX
X X X X 000°G¢ 000°¢E 2
X X X X 000°8 0008 3
X X X X X X X X X i4 626°L1 15¢°61 €v9°81 L 86681 £6£32 9%9°02 I Gree | 3 8) @ W H)
X X X X 000°0% 000°0% el 2
000°T 000°T 000°T 000°T 000G 005°¢ 3
26201 620°L1 §zaal L1521 05681 626°G1 08F‘TT 60L°L1 [N €2 Zr9°91 €22°02 LTP'81 86 £68°GT £69°81 122°L1 18 [k ¥ OF W
00063 000°GH 00062 000°0¢ 000°8¢S 00009 ]
000°¢ 005°p 000°¢ 005F 005°¢ 00T 3
£EE‘61 62981 62681 06481 00£%2 €681 000°61 8LL1C €950 < G80°CT 728°61 Z1G°LT 12 180°91 L2¥°0¢ 89681 92 (S ¥ o B
000°0€ 000°0€ 000°0€ 0051V 000°0S 00009 B
000°T 000°T 000°T 000°T 000°2 000°¢ T
16691 68602 70561 90881 95972 L1%'22 2€6°L1 ¥LL'T% 02602 €9 G18°91 €18°61 82881 0LT FOLLT 02902 661°61 €€ B 12 HOF B
006°6.L 006°6L 000°08 000°08 0008 000°09 g
i b , i
M4 BB WGk | 8| BB moek | s 38 meek | F | aw | oae L B | oan o e BE =
P4 WAL} I - pA I AN} P
12 12 Fk 42
e e 2l 0 RAEIENY [GES
SENGFH 0T Y — G $

(& ] - T

WLUATOREFT)

®—¥



$24&—© FHETHOLHIN

(B : £, %)

= — x Bl
it w n | EE & @ il
S # 73 1 il il & [E] 7o P
2 Y P e [ HES =] & L
%{ A J: 3%) 73? %
) U} L
852 446 41 402 222 173 7 3 402 4
= = (100.0)|  ( 52.3) (472 ( 0.5)
AoE B R G <100.0>| < 9.2>i < 90.1> <0
<100.0> < 55.2> < 43.0> < 17>
73 47 3 44 24 20 - - 26 -
. (100.0)|  ( 64.4) ( 35.6) -
C N <100.0>| < 6.4>1 < 93.6> -
€100.0> < 54.5» < 45.5> -
231 162 16 146 88 56 2 - 69 -
b e (100.0)] ~ ( 70.1) (129.9) -
L <100.0>] < 9.9 < 90.1> -
<100.0> | < 60.3> < 38.4» < 14>
52 24 1 23 11 12 - - 28 -
- e (100.0)]  ( 46.2) ( 53.8) -
LR BRCIE S <100.0>| < 4.2>] < 95.8> -
<100.0> | € 47.8> < 52.2» -
54 28 3 24 15 8 1 1 26 -
- . . (100.0)]  ( 51.9) ( 48.1) -
ok, T E <100.0>| < 10.7>1 < 85.7> < 3.6>
<100.0» < 625> < 33.3» < 42>
159 84 8 76 36 37 3 - 74 1
ey s (100.0) ( 52.8) ( 46.5) ( 0.6)
B 7E 3, g8 <100.0>] < 9.5>F < 90.5> -
<100.0> | € 47.4> < 48.7» < 3.9
41 8 - 8 4 4 - - 32 1
= (100.0)|  ( 19.5) (78.0 ( 2.4
B S <100.0> - <100.0> -
<100.0» < 50.0» < 50.0> -
20 3 - 3 2 1 - - 17 -
AAO®y pE %, (100.0)[  ( 15.0) ( 85.0) -
/I T = G = 2 <100.0> -1 <100.0> -
<100.0> | € 66.7> < 33.3> -
45 18 1 16 9 7 - 1 27 -
o MF % (100.0)[  ( 40.0) ( 60.0) -
B i —e R <100.0>| < 5.6>1 < 88.9> < 56>
<100.0> | € 56.3> < 43.8» -
45 14 3 11 7 4 - - 30 1
mom ¥, (100.0)[  ( 31.1) (66.7) ( 2.2
Ay —b R ¥E <100.0>| < 21.4>F < 78.6> -
<100.0>» < 63.6» < 364> -
27 14 - 13 7 6 - 1 13 -
ARG B — R, (100.0)[  ( 51.9) ( 48.1) -
a3 <100.0> - < 92.9 < T
<100.0> | € 53.8> < 46.2> -
22 6 - 6 4 2 - - 16 -
HE, FHLEE (100.0)[  ( 27.3) (72.7) -
(FWREHEZRL) <100.0> -1 <100.0> -
€100.0> < 66.7> < 33.3» -
44 14 4 10 5 4 1 - 30 -
, = (100.0)]  ( 31.8) ( 68.2) -
g, M Ak <100.0>| < 28.6>F < T1.4> -
<100.0> < 50.0» < 40.0> < 10.0>
39 24 2 22 10 12 - - 14 1
= X E (I (100.0)]  ( 61.5) (359 ( 26
SHEERR O OD) <100.0>] < 83> < 9L.7> -
<100.0> | € 45.5> < 54.5» -
493 239 26 212 118 90 1 1 252 P)
(100.0) ( 48.5) (51.1) (0.4
10 -~ 49 A <100.0>| < 10.9>1 < 88.7> < 04>
€100.0» < 55.7» < 425> < 19>
220 120 10 109 64 43 2 1 98 2
(100.0) ( 54.5) ( 44.5) ( 0.9
50 -~ 99 A <100.0>] < 83> < 90.8> < 0.8
<100.0> | <€ 58.7> < 39.4» < 1.8»
139 87 5 81 40 10 1 1 52 -
(100.0) ( 62.6) (37.4) -
100~ 299 A <100.0>] < 57> < 93.1> < LD
<100.0> | € 49.4> < 49.4» < 1.2»

()< O > PINTREREE(%)




2R FPTHOSGHBHEA

(AL, H)

] — A ke FIRICED B2 D (FIRBIZAR)

&5 3 £ e 5 A BifRE | BT  F T | E=T

&t %) &t ) &t ¥

4= % 1 %A 4 %
53] 50,000 69,000 30,000 25,000 20,000
mOE OE ¥ ¥R 443 6,891 41 | 11,769 402 6,756 10,498 5,802 5,461 5,415
54159 2,000 800 500 500 400
541 X 20,000/ 15,000 15,000/ 20,000
BB ¥ RS 47 6,809 3 X 44 6,537 10,213 5,288 5,264 5,647
K X 3,000 1,000 500 500
53 28,000 25,0000 20,000 20,000/ 20,000
o E ¥ RE5] 162 6,133 16 10,781 146 5,986 9,549 5,096 4,656 4,487
X 2,000 1,000 500 800 400
5 d] X 25,000 30,000 20,000 15,000
B oW om E ¥ Y 24 8,282 1 X 23 8,262 12,572 8,148 6,927 6,090
Ak X 3,000 3,000 2,000 1,500
4] X 25,000 16,000 17,000 20,000
O, W E 3¢ P 27 6,492 3 X 24 6,492 9,265 5,504 5,129 6,105
el X 1,000 1,000 1,000 1,000
5 d] 50,000 25,000 20,000 20,000/ 20,000
#oE ¥, /A IE ¥ EY 84 7,505 8 17,667 76 7,263 10,587 6,621 6,195 6,145
Jed 6,000 800 500 500 500
54 - 69,000 10,000 10,000 15,000
& R, RRE Y 8 9,804 - - 8 9,804 27,800 5,438 5,688 6,643
Hedk - 15,000 3,000 3,000 2,000

B

X OB OGE % 322 5 ) ) X X X X
Yoy % 3 X 3 X X X X X
Ef'f& - X X X X
RN 5 q] X 27,300 15,000 25,000 15,000
B R b 2 ) 17 8,564 1 X 16 8,538 12,879 6,673 7,757 6,717
A X 5,000 2,500 3,000 3,000
Eom % =i X 20,000 10,000 10,000 5,000
ﬁk@ﬁ ;L = e NS 14 6,524 3 X 11 6,434 11,045 4,636 4,778 4,143
fefk X 5,000 2,500 2,500 2,500
. N 3= 20,000 10,000 10,000 10,000
iﬁfﬁﬁ t;% NS 13 7,320 - - 13 7,320 10,231 6,462 6,250, 6,167
A% - 1,000 1,000 1,000 1,000
e mn s e g | B - 16,000 10,000 5,500 2,000
?@% g ;,ﬁfﬁ Ei@ 6 4,559 - - 6 4,559 8,460 4,020 2,525 1,667
A% - 3,000 600 600 1,000
bait X 10,000/ 10,000 10,000 10,000
= O, B oak  Ey 14 5,757 4 X 10 5,879 7,500 5,889 5,333 5,333
b4l X 5,000 3,000 3,000 3,000
. _ A X 28,500 13,500 13,000 13,000
giﬁgﬁffﬁ\(fg”) f’a 24 7,560 2 X 22 7,315 11,737 6,095 5,976 5,800
N brali | X 5,000 3,000 3,000 3,000
b4t 50,000 25,0000 20,000 25,000/ 20,000
10 ~ 49  AER 238 6,872 26 12,060 212 6,693 10,010 5,829 5,535 5,406
b4 li 2,500 800 500 500 500
541 50,000 28,500/ 30,000 20,000/ 20,000
50  ~ 99 A 119 6,786 10 11,444 109 6,678 10,770, 5,889 5,310 5,189
b2 li 2,000 1,400 600 600 500
4 28,000 69,000/ 20,000 20,000/ 20,000
100 ~ 299 ARy 86 7,076 5 10,900 81 7,012 11,378/ 5617 5,491 5,730
ey 4,500 2,000 500 500 400




